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So, Mo, Lo data
Cone sensitivities

So, Mo, Lo

uλ=(λ − 550) / 50
logSo =−0,35[uλ−u445]2

logMo =−0,35[uλ−u545]2

logLo =−0,35[uλ−u570]2
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To, Bo, Go, Lo, Ro data
logTo =−0,35[uλ−u420]2

logBo =−0,35[uλ−u470]2

To, Bo, Go, Lo, Ro

uλ=(λ − 550) / 50
logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

logRo =−0,35[uλ−u620]2
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Bla, Blo data
Bla=(To+ Go)/2
Blo = Bla / 0,44
Blo, Bla, To, Bo, Go

uλ=(λ − 550) / 50
logTo =−0,35[uλ−u420]2

logBo =−0,35[uλ−u470]2

logGo =−0,35[uλ−u520]2

Adaptation: λTG=470
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Ble=Bo−Bla
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Bla, Blo, Ble, Yle data
Bla=(To+ Go)/2
Blo = Bla / 0,44
Ble=Bo−Bla, Yle=Bla−Bo

uλ=(λ − 550) / 50
logTo =−0,35[uλ−u420]2

logBo =−0,35[uλ−u470]2

logGo =−0,35[uλ−u520]2

Adaptation: λTG=470
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Gla, Glo data
Gla=(Bo+ Lo)/2
Glo = Gla / 0,44
Glo, Gla, Bo, Go, Lo

uλ=(λ − 550) / 50
logBo =−0,35[uλ−u470]2

logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

Adaptation: λBL=520
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Gla, Glo, Gle, Rle data
Gla=(Bo+ Lo)/2
Glo = Gla / 0,44
Gle=Go−Gla, Rle=Gla−Go

uλ=(λ − 550) / 50
logBo =−0,35[uλ−u470]2

logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

Adaptation: λBL=520
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L la, L lo data
L la=(Go+ Ro)/2
L lo = L la / 0,44
L lo, L la, Go, Lo, Ro

uλ=(λ − 550) / 50
logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

logRo =−0,35[uλ−u620]2

Adap.: λGR=570

−3 −1  1  30

550400 500 600 700

0,0

0,5

1,0
maximum
log(L lam)=−0,35
L lam=0,44
Threshold
ta=0,00

EE500−8A

520 570 620
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Yle=Lo−L la Ble=L la−Lo
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L la, L lo, Yle, Ble data
L la=(Go+ Ro)/2
L lo = L la / 0,44
Yle=Lo−L la, Ble=L la−Lo

uλ=(λ − 550) / 50
logGo =−0,35[uλ−u520]2

logLo =−0,35[uλ−u570]2

logRo =−0,35[uλ−u620]2

Adap.: λGR=570
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